Math 11 Essentials Assignment




Name ______________________
1. Using your knowledge of exponents, square roots and the number (, complete the following:

a) 122 


b) 1.253

c) 0.845

d) (3


e) 
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f) 54


g) 
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h) 
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i) 
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2




j) (
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k) 2.25


l) 
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6




m) 
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10



n) 18


o) 015




2. You learned that exponents represent how many factors of a number you have. For example, 
54 = (5)(5)(5)(5). Using this knowledge, write the expression below as a number with an exponent.

a) (2)(2)(2)


b) (16)(16)(16)(16)(16)


c) ( ½ )( ½ )( ½ )( ½ )



d) (0.75)(0.75)(0.75)(0.75)(0.75)(0.75)


e) (()(()(()(()(()



3. Solve the equations below to find the unknown.

a) r + 5 = 14


b) d – 18 = 80


c) 14 + k = 30


d) s – 2 = 1





e) f – 5 = -10 


f) w – 7 = - 2 


g) a + 4 = -2


h) 2 + x = 0





i) e – 15 = -5


j) y + 11 = 30


k) p + 4 = -8


m) c – 0 = 4


4. Write an equation for each problem. Then solve the equation.

a) A number minus 61 is 28.




b) A number increased by 4 is 17.




c) A number divided by 4 is 3.



d) A number diminished by 12 is -5.




e)  70 divided by a number is 10.



f) A number plus 40 is 96.





5. 78 people are trying out for the football team. 47 will pass the first round of try-outs. How many will not pass in the first round?





6. At the Millville Animal Hospital it costs $40 dollars to perform an x-ray on a dog that weighs greater than 35 pounds, and $25 dollars for a dog that weighs less than 35 pounds. What would be the total cost to perform x-rays on a group of dogs that had the following weights (in pounds): 38,12, 42, 24?





7. Mr. Bloop likes to hit fly balls to his nephew on Saturday afternoons. His nephew catches about two out of every five fly balls hit to him. If Mr. Bloop hits 50 fly balls, how many will he probably catch?




8. Bob is earning money by shovelling snow. He shovels one driveway and makes $12 and another and makes $8. There is a shirt that costs $30 that Bob wants. How much more money does he need to make before he can buy the shirt?
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Find the perimeter of each shape by using a centimetre ruler.

a) 


                  
    b)



     c) 






 
	Find the perimeter of a triangle with sides measuring 5 centimetres, 9 centimetres and 11 centimetres. 
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	A rectangle has a length of 8 centimetres and a width of 3 centimetres. Find the perimeter. 
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	Find the perimeter of a square with each side measuring 2 inches. 
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	Find the perimeter of an equilateral triangle with each side measuring 4 centimetres. 
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10. A playing card has a length of 10 centimetres and a width of 5 centimeters. What is its perimeter?



11. The perimeter of a square is 200 centimetres. What is the length of each side?



12. A square garden has a side of 22 meters. How many meters of fence are needed to enclose the garden?[image: image12.png]
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